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X = I X 2,377 1.5 2,428 1.5
[ 2 34,808 21.8 | 35,028 22.0 275 e
B E2 1,121 0.7 1,329 0.8




N7

oE 4NN EN AR

7.2 - 1>

iz
an

<

_}n_
)
¥ m_m ol
K = < = |m
- H < U KIo urjee
o — ...=_
= ® = M ™ [W KO
W 0 = ol al 5 —
) K0 = 20 %
N Touwg ™ Woow oz
ol o o B a7 H = )
= T Row wols 3
o = OF = =T
S R0 gy W0 R
ofl N X KO o
W o T W ° K
X oM oo MW o rE Kr on
0 M0 ®0OKO RO < J00 Mo
0 W0 0 a0 I+
z K < 3 < < <4 ol
2 _ H =® H = .
M |, ﬂm WE :._._ a ._l—_._ 0 __|O
E: =< ! = o X oJ
w R = o B O]
£ o e K K0 o K=< M
/ s \ 7 Yo ol U T Ho = ol
= ey : ik Y a
ol / i ) Bu o} 6 o7 ____|=_ <4 =
= pS 4 oy R om K oA
S /2 ol =0 OF =< < Sz w
i AU =R 3 w Dy ©
s I om_ﬁ ~ = W Wk
2 ., = I Jo|Ho
Wo ol U o
S 1 T A T T )
20 F ' oK R 0 R|Y R
] = 00 0
i H s = %0




